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AT-2-1 3.0 2.2 S1=1.0 17 5.0 2.0 2.5 1.8

AT-2-2 4.0 3.0 S1=1.5 19 5.0 2.0 2.5 2.0
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gooooooooooOooooocoooooon

U000 000000KSOKBO O 0 0 010001000000

eI 00CU0O0DOOCOOOOOUODOOOOOOOOOOOOODOOOOOn
e[JI0OCOOODOCOO1000080 000N

oooog

e[l[...... OoooOooooon |

e JODOO
< <
— _m— ]
0.9 . o
o
[ ] PCO 2 a
Bl i v P ."_;

2.0
L9

1017

0.
o2 H
1.03p
KSOOO KBO OO
0000010900 000000800

ooo A0 O goooooodde 000000000 | Doo0Do000000000000O000n
KS-1-1 6.0 1.0
KS-1-2 10.0 1.0 P-6
KS-1-3 15.0 1.0
KS-1-4 20.0 1.0
KB-1-1 5.0 0.8
KB-1-2 8.0 0.8
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